
Multiplier des fractions mixtes négatives (C)

Nom: Date: Note:

Calculez chaque produit.

1. (−318) × (−212) =

2.
8
9 × (−123) =

3. (−1 511) × (−3 911) =

4.
5
9 × (−4 412) =

5.
1
9 × (−137) =

6. (−213) × 3 411 =

7. (−123) × (−4 212) =

8. (−2 310) × (−2 710) =

9. 114 × (−416) =

10. (−412) × 147 =

MathsLibres.com



Multiplier des fractions mixtes négatives (C) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−318) × (−212) = (−258 ) × (−52) = 125
16 = 71316

2. 8
9 × (−123) = 8

9 × (−53) = (−4027) = (−11327)

3. (−1 511) × (−3 911) = (−1611) × (−4211) = 672
121 = 5 67121

4. 5
9 × (−4 412) = 5

9 × (−5212) = (−260108) = (−6527) = (−21127)

5. 1
9 × (−137) = 1

9 × (−107 ) = (−1063)

6. (−213) × 3 411 = (−73) ×
37
11 = (−25933 ) = (−72833)

7. (−123) × (−4 212) = (−53) × (−5012) = 250
36 = 125

18 = 61718

8. (−2 310) × (−2 710) = (−2310) × (−2710) = 621
100 = 6 21100

9. 114 × (−416) = 5
4 × (−256 ) = (−12524 ) = (−5 524)

10. (−412) × 147 = (−92) ×
11
7 = (−9914) = (−7 114)
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